CARLTON CRICKET CLUB 3rd XI Vs Musselburgh 2nd XI
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PLAYED AT: Peffermill DATE: 14th May, 2011 | ) COMPAN

RESULT: Carlton won by 42 runs

INNINGS OF: Carlton BOWLING
Nol| Batsman [[ How out Fielder [ Bowler [IRung] 6s] 4s It Bowler Overs|[Mdng| Runs [[wkts|| Nb || W
1 [|IC Everett [[Bowled [lchandwani 11 2 1 [[Chandwani 9 4] 23 1
2 [|G Newman [[caught [Robertson 82 15 2 [[Robertson 9 i 44 1
3 [k MacPherson [[Bowled [[aien 4 3 [IBurton gl o 30 1
4 IR MacPherson [[caught [lBurton 7 1 4 [[Allen 7 iff 33 2
5 ||L Kasperek fl.B.w. [lcampbell 2 5 [lJAhmed 5 of 26 0
6 [[A Bij [[caught [lcampbell 15 2 6 [[Campbell 6 of 19 3
7 |IA Fedenczuk [[Not Out It 30 4 7 [|Barad 1 of 11 0
8 [[M Kennedy [[Bowled [lcampbell 12ff 2 8 |l It
9 |b walker [l[caught [lAllen B 1
10]|C Gosain Not Out Il 2ff
11]|G Ritto DNB [[ oll

[[Extras (Ob, 12lb, 7w, 6nb) 25|f

[[roTAL [l(8wickets, 45 Overs) 198|
INNINGS OF: Musselburgh 2nd XI BOWLING
No Batsman [[ How out || Fielder [ Bowler [IRung] 6s]| 4s It Bowler Overs{[Mdng| Runs [[Wkts|| Nb || W
1 [|A Ahmed [[caught  [IRittoo [[kasperek 50f 1 [lwalker 6 iff 14 0
2 [l campbell [Bowled || [[cheeky 22} 2 [IR Macpherson 4 of 27 0
3 [IT chandwani [[Bowled || [[Rittoo 3| 3 [|Gosain 9 0 23 1
4 [IA Kaytal [l.B.W Il [[Rittoo 9 4 [[Rittoo 9 2 24 2
5 [b Allen [[caught  [IR. Macpherson [[Bij 1 5 [IBij 8.4 1 26 5
6 [lv Kumar [[Run Out  [[k.Macpherson/Everett || 1 6 [|[kasperek 7 1 35 1
7 [[H martin [[Bowled || [[Bij 13 7]
8 [[o Burton flL.B.wW It [Bij 8 8 ||
9 [Ir Barad [[caught  [lEverett [IBij 19
10 [P Robertson [[Not Out || It 11ff
11 [|a Chadwani f[caught  [[Newman [{Bij ol

[lExtras [lisb, 2Ib, 12w, Onb) 19]f

[lroTAL [[(1owickets, 43.4 Overs) 156




